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NUMBER

EXPONENT BECOMES THE LOG




e. 2°5=232
f. 102 =100
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NERALISE :
8a X
qyual to LOG x base
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same set of axes




c.
Domain of f(x): x € R
Range of f(x): y > 0
Domain of f~1(x): x > 0
Range of f~1(x):y € R

REMEMBER THAT EVERYTHING
TO DO WITH x BECOMES y AND
EVERYTHING TO DO WITH y
BECOMES x. THIS APPLIES TO
THE DOMAIN AND RANGE AS
WELL.
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3-2 _ 30 =1 31=3 32=9 33 =27
9

1
= 3 Notice that the
(-1;9) (0;1) (1;3) (2;9) (3;27) x and y
: coordinates
4444444 , swap around
from the

function to ’rh@

fo) = 3%

POINTS TO PLOT (-2; l)
"9

inverse.

x = 3Y(which is y = logsz x) 3-2 _ 1 3-1 — 1 30= 31=3 3%2=9 3% =27
9 3

POINTS TO PLOT (=5-2)
9I

(3:-1)  (1:0) (3;1) (9:2) (27;3)




PAST PAPER QUESTION

QUESTION 5

Sketched below is the graph of f(x)=&"; k> 0. The peoint (4 ; 16) lies on J

T»

Determine the value of A

Graph g i1s obtained by reflecting graph f about the line p = x. Determine the
equation of g in the form y= _..

Sketch the graph g. Indicate on your graph the coordinates of two points on g




